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' Jet plain engine develops thrus!
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8: Weight Ll consumed 1000] of energ)

Ansd SOOW

9 oy moves in gircular patl
Ans. Speed

e object is moving faster than speed of sound

er with weight W ascending with Zero (0) acceleration U
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{OON and Nying speed 200m/s. the power of ep

to R load in 2 seconds; the power consums
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| 1: Helicop
Ans. F= W
1% A body falls from certain height and [alls freely. its speed after | secand will be?
Ans, 2.8ms
13: How long 1l tnkes body moving w ith speed af 30m/s to sto
\ns. Six (6) seconds
ular forces of same magnitude (F)

|'I it decelernies a

14: Two perpendic are meetng at a point. [he result

Ans: Under score 2F or /21
Ans: Supersonic
17: The speed of wave in medium 760s
Ans: 25.Jm/s

18: The sound speed at 0*
Ans, J88m/s

19: The electric ficld intensity inside the spherical surface 1s:
Ans: Zero

20: The Capacitor of 5F, TF connected
Ans: 12F

21: 12J work done charge on 0,1 between (WO points against electric field

two point will be

Ans: 120volt
22: The charge of magnet is 3UF and displaced at 20cm and equapot

to 3600 passing through the medium in 2 minute

is 332 m/s, the speed of sound at 1UULC will be?

in parallel Each of equivalent capacitance is

The polentia

tenual surfaces. | e Foguired

of work done is:
Ans: Zero

23: which of the following is corrent relationship?

Ans: E= Eo Er
24: In parallel plate capacitor, If area
Ans. Doubled

25: In electric field electron is places between Iwo P

difference is 60volt, Force of electron

Ans: 1.9 %10™°)

of the capacitor will doubled the capacitance will be:

portentia

arallel plates and separation is 0.5cm and
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68 The cosperin I WK
Ans Endodermal cells
69 {n which defieienct yoll earmivon
Ans Nitrogen
70: Colour of leal tums into

Ans Pattasium (K)
21- A chemical produced by eertniin il (RO

Ans Antibiodie
72 Cocel arranged In group of Eight (8 )7
Ans Sarcinn
73: Type of sexu
fused to form?
Ans Anisogamy
7d: The growth in apex.of young stem take place In 2lgzag manner
Ans Nutritional / Nutritive moment i
75: Particular nren of chromosome
Ans Karyotype/ Karyotyping
76; Response of plant to relation with day and night”
Ang, Photoperedism or Photoperdum
A Most Abundant WBCs,
Ans Neutrophills t
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T8: which ]'.L'|'|‘|'~_i. 0 prevent u_'ir;|q|£-_|; in pH?
Ans Buffer
19: Xantophyills and carotenes are?
Ans Carotenoids
80: which carry information from nucleus to Ribosomes?
Ans mEINA
8 1: enzyme which act as same cells
And Endoenyme
82 Violume ol blood pumped by left
Ans Cardinc Output
83: I'mpsinogen to active tripsin by er
Ans Amylase or Enterokinnse
84: Accumulation of small changes through success)y, o Ot
chameter transfer into olfsprinsin next generation? ik Lo L
Ans Inheritance of acquired character
85: All species are not same totally. Varriation are inheris. | according 1o

Ans Charles Darwin
86: The Tromonema PAllidium 15 which ol the |

Ans Spirocheatae
87: Reflex which involve sensory and moter neuron

Ans Reflex arc
88: Spicules of sponges are
Ans Calcanus
89: The occurrence of species Intro [Wo or more structurely

And Polymorphism
90: Synsthesis of mMRNA is ?
Ans Transcription
91: Energy rich molecule is
Ans ATP
92: The impulse where impulse more from one to another is called
Ans synapses
93: Cells of nervous system are?
Ans Neurons
94: Sound, Touch pressure and motion is detected by”

Ans Mechano receptor
955 Activity if every enzyme is regulated by?
Ans Feed back Inhibition
95: Intraspecfic structural=
Ans Same species
96: Similar organs have tend 1o modify functions and different s ecies”
Ans Homologous organisms I %
97: Gonorrhea caused by?
Ans N- Gonnorhea
98: HIV is vires, destroyes?
Ans Immune system
'ifc::::ﬁ;::;;un of cartilage due 1o deposition of calcium,
100: Ankle bones are
Ans Metatarsals
101 Heant surrounded by?
Ans Pericardium

ind lunctional




102 Ower genatals, Pamial ulcer blsster el b

Ans Herpes Simplex

103:Sperms stored in fong thin &m tub
Ans Eprdydmas

1 04: Certilage formed by which cells

And Chondroevies

[05: which regions hnve greatest no.of sen reccf
Ane [ ongue el Einoer tipa
106; Presynapic membrene vesicle
Ans Medrofransmiiner
107 The largesi organ
s Laver
8 Myosin filament surrounded by
Ans G actin Tiamend
109 Children having blood group A- B-AB- ()
Ans One present gave heterogen: A and ¢ NRTTNE T
0 Trachiosds hav ing spindle shape given b
Ans. Obligue transfer wall
|14 First barrier to pathogen
Ans. Epidermins
112 Transmition of Hep B and Hep ©
and Through contaminated Hilod wnd Blood prodi
| 13: Pyvruvate convert 1o 3 carbon molecules i called
And I‘-.,.n'!- g CyLIE
Clmmmisiry
wril sypgaded | in ;

| ¥ Elemirons revolve around nocheu

i stmtement of 7
Ans Meil Boh

| 10 wave which has highest penotrating power?
Ans Gamma YWaves

| 11: Typical monocol seed does nid have

Ans spathes

| 12: prodscing sound organ {pair of viocal cords)

Ans Lanmx
I3 Conversion of stradght to branched chain?

Ains Rielforrming

[ [4: The Fetrol {Gasoline) is mrixture of"

Ans Hexane and Heptane

I13: Acetylene is passmng through red hot lube in presence of
s Lincatolyvst Benzene

16 Methanol is called
And Wood Sprif

|17: which is used as ink preservative?
Ans. Phenol

U18: Positve charged oxygen bounded with free other atoms or groups of atoms

Ans Cxinium lon

% Diffusion of gas is inversely proportional to square root of density i consianl [Emperiiire

h‘l_umf'
Ans Graharms Law
120; used in Tvs and computers”

ifiid




Ans Plasma
121: Free falling drops of water?
Ans Surface Tention
122; which of the following having characters of malleability, ductility, electrical
conductivity?
Ans Metallic Solids
123: What happends to Kc when catalyst is added to chemical system equilibrium
Ans [t become zero
| 24:outer body of dry cell
Ans Zinc
125: Process occurs at anode?

Ans Oxidation

126: Dipole moment of CS2 is Ans,. 0.00
127: trigonal pyramidal shape ?

Ans NH3 "

128: in first law of thermodynamics, initial and fing] g, depends upon’

And Energy (E)
129: Chemical reaction NHO2 -=2 NO2, the order of reqction is?
Ans 2™ order y
130: General gas equation is combination ol 7
Ans Boyle's and Charles Law
131; smallest repeating pattern on w hich lattice is built?
Ans... Unit Cells
132: Kcis
Ans Equilibrium Constant
133: 2HI — H2Z + 12 15
Ans 2™ order Reaction
134: In reaction A = B, rate of diapperence is
Ans —gA/at?
135: At ordinary condition, Formealdehyde i5?
Ans. Gas
136: The molecular weight of water soluble protein is?
Ans High
137: At equilibrium,
Ans.Rate of Forward reaction is equal to rate of backward reaction
138 Fat soluble vitamins are?
Ans. A, D, Eand K
(39: Maximum amount of product is obtained by balance chemical reaction by using’
And Theorical yield . -
140: Percentage of O2 in water?
And 88.88%
141: LI{IJi[ng reaction is one which produce?
Ans. Minimum number of mole products,
142: Nucleophile is a
Ans Electron Rich Species
143: At hightest Temperature, the gas exits in liquid is called?
Ans Critical temperature
144; Elimination reaction n which only substrate involve in rate determination step?
‘Ans, Unimolecular.
145: Tollen reagent is prepared by adding drops ol NaOH + AgNO3 to white precipitates”
Ans, AgOH
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48: Xray I..ilﬁl..'LH'c'lrL py:
II j9: f-ll'r'nn'rmlr'ml is extracied
Ans Bauxite
15 0F lectrica Il
Ans | (%0 ;.mn;.
151: Stainless Stell

hy W. Rhenogen

. { through

y refining copper is

is alloy of

Sin e o o electrons can have same set of quantum number?

152:+in the orbital of atom, no W
Ans. Pauls exculisive principle
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Ans Crude Oil hin & :
154: A reaction in which two molecules combine ang vield single molecule :j
Ans Addition reaction :
155: Benzene was first isolated by Faraday
Ans Hofman
1 56:Fuming Sulphuric acid at room temperature reacis with benzene 10 produce
Ans Benzen Sulphonic Acid r
1 57:Replacement ol one or more hydrogen atoms 0! methane with halogen is?
Ans Halogenation.
158:P block Contains
Ans, Metals and Non-Metals
[59: Viscsity 1s measure of W
Ans Resistance in flow of liquid
|60:Shape of diamond ?
Ans tetrahedral
English )
|1 Locious Neighbour? :
Ans Talkative .
2: Correct Option '
And Will get
s [hﬂrﬂ.'i.‘f sentence? .&'
Ans. f?r[l{}n said “what a beautiful house it <™ :
:J- Ans Kinza said “How long -
5: Cleaning staff S . '
Ans, Demolised area o prevent spread of corona virus?
6: ldentify the error?
Ans In trus rith work .
inly FI'UI'TI me with work and it is done effectively.
. 1S 15 hite  thinklace " . ks -
s erally thinkless staff. I will never take it again
; OnK . . ' - : . -
o p t‘pper mlhf the boy that is he did not take himself off would call of police _
51* 4nge into simple past? -'
. : i
€15 a beautiful women l’f.?'
4
r 18

Ans She was a beautiful women
10: What type of sentence is this? ;
tare doing here Ali. | have not seen vou since Jiine.

Ans, Interogative
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11:Shery is Coming
12:My friend lives ﬂLHﬁdlhit' IN Karac hi

|3:Choose cormect one’
ilike nation teasure the longe
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